
Wie lautet die fehlende Zahl (bis 100 000)?

Aufgabe 1

1. 47 271 +     =  68 783

2. 80 698 +     =  103 272

3. 76 052 +     =  114 876

4. 41 716 +     =  62 654

5. 86 604 +     =  109 921

6. 85 335 +     =  106 301

7. 90 667 +     =  171 874

8. 84 076 +     =  163 038

9. 78 301 +     =  149 231

10. 83 256 +     =  102 282

Aufgabe 2

1. 95 843 +     =  106 698

2. 69 976 +     =  104 403

3. 33 970 +     =  61 079

4. 90 815 +     =  104 336

5. 61 583 +     =  112 622

6. 32 745 +     =  53 674

7. 67 475 +     =  90 664

8. 71 258 +     =  137 617

9. 96 743 +     =  126 388

10. 80 068 +     =  108 913

Aufgabe 3

1. 34 903 +     =  55 459

2. 65 520 +     =  92 543

3. 57 348 +     =  99 586

4. 59 112 +     =  116 118

5. 76 742 +     =  122 561

6. 67 239 +     =  105 208

7. 93 191 +     =  147 461

8. 62 226 +     =  100 904

9. 21 669 +     =  42 278

10. 98 096 +     =  129 850

Aufgabe 4

1. 74 332 +     =  89 646

2. 31 488 +     =  52 466

3. 94 279 +     =  138 121

4. 54 727 +     =  105 990

5. 86 155 +     =  159 880

6. 49 843 +     =  97 493

7. 58 847 +     =  84 400

8. 56 090 +     =  109 141

9. 22 223 +     =  37 934

10. 69 134 +     =  115 369
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Wie lautet die fehlende Zahl (bis 100 000)?
| ANTWORTEN

Aufgabe 1

1. 47 271 +  21 512  =  68 783

2. 80 698 +  22 574  =  103 272

3. 76 052 +  38 824  =  114 876

4. 41 716 +  20 938  =  62 654

5. 86 604 +  23 317  =  109 921

6. 85 335 +  20 966  =  106 301

7. 90 667 +  81 207  =  171 874

8. 84 076 +  78 962  =  163 038

9. 78 301 +  70 930  =  149 231

10. 83 256 +  19 026  =  102 282

Aufgabe 2

1. 95 843 +  10 855  =  106 698

2. 69 976 +  34 427  =  104 403

3. 33 970 +  27 109  =  61 079

4. 90 815 +  13 521  =  104 336

5. 61 583 +  51 039  =  112 622

6. 32 745 +  20 929  =  53 674

7. 67 475 +  23 189  =  90 664

8. 71 258 +  66 359  =  137 617

9. 96 743 +  29 645  =  126 388

10. 80 068 +  28 845  =  108 913

Aufgabe 3

1. 34 903 +  20 556  =  55 459

2. 65 520 +  27 023  =  92 543

3. 57 348 +  42 238  =  99 586

4. 59 112 +  57 006  =  116 118

5. 76 742 +  45 819  =  122 561

6. 67 239 +  37 969  =  105 208

7. 93 191 +  54 270  =  147 461

8. 62 226 +  38 678  =  100 904

9. 21 669 +  20 609  =  42 278

10. 98 096 +  31 754  =  129 850

Aufgabe 4

1. 74 332 +  15 314  =  89 646

2. 31 488 +  20 978  =  52 466

3. 94 279 +  43 842  =  138 121

4. 54 727 +  51 263  =  105 990

5. 86 155 +  73 725  =  159 880

6. 49 843 +  47 650  =  97 493

7. 58 847 +  25 553  =  84 400

8. 56 090 +  53 051  =  109 141

9. 22 223 +  15 711  =  37 934

10. 69 134 +  46 235  =  115 369
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